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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

5 x 9 = 30 ÷ 6 = 7 + 3 = 8 - 3 = 9 + 7 =

4 x 9 = 7 + 4 = 3 + 8 = 5 + 8 = 5 - 4 =

63 ÷ 9 = 5 + 4 = 6 + 8 = 3 x 4 = 7 + 5 =

6 x 5 = 5 x 9 = 24 ÷ 3 = 8 - 3 = 5 + 3 =

4 + 3 = 6 + 9 = 4 + 7 = 5 x 4 = 4 x 5 =

7 + 4 = 5 x 9 = 9 + 4 = 8 - 3 = 9 + 8 =

82

51 31

60

57

31

9

85

34

47

5

56 + 7 = 49 + 6 = 38 + 5 = 15 + 3 = 24 + 7 =

73 + 9 = 64 + 3 = 67 + 6 = 39 + 3 = 17 + 4 =

56 + 7 = 45 + 8 = 74 + 8 = 27 + 7 = 67 + 3 =

45 + 4 = 25 + 7 = 78 + 7 = 36 + 6 = 13 + 7 =

11

5 6

13

5

11

8

15

8

13

7

37 + 3 = 28 + 8 = 58 + 5 = 79 + 5 = 49 + 8 =

68 + 4 = 14 + 5 = 29 + 3 = 34 + 8 = 15 + 8 =

45 + 5 = 54 + 7 = 74 + 4 = 68 + 3 = 15 + 6 =

73 + 4 = 36 + 7 = 58 + 4 = 43 + 8 = 26 + 5 =
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Spin again. I needed to spin time(s) to finish.

5 + 7 = 4 x 6 = 7 + 3 = 4 x 8 = 3 + 4 =

8 + 9 = 27 ÷ 3 = 8 - 3 = 4 + 8 = 8 - 5 =

3 x 4 = 7 + 3 = 9 + 6 = 8 + 3 = 4 x 6 =

72 ÷ 9 = 35 ÷ 5 = 8 + 3 = 4 + 6 = 3 + 3 =

5 + 5 = 7 x 5 = 4 x 3 = 5 - 4 = 9 x 6 =

65

41 24

81

43

97

36

51

28

58

22

49 + 5 = 38 + 5 = 18 + 8 = 75 + 8 = 53 + 6 =

64 + 9 = 26 + 8 = 48 + 3 = 36 + 5 = 56 + 6 =

24 + 4 = 13 + 7 = 76 + 3 = 69 + 7 = 15 + 7 =

11

9 2

14

5

9

4

14

9

15

7

53 + 5 = 38 + 3 = 78 + 7 = 27 + 8 = 13 + 8 =

46 + 5 = 69 + 4 = 77 + 6 = 45 + 6 = 14 + 3 =

38 + 5 = 56 + 7 = 69 + 8 = 26 + 8 = 16 + 5 =

66 + 9 = 48 + 6 = 53 + 7 = 28 + 3 = 78 + 9 =

37 + 3 = 33 + 7 = 74 + 9 = 55 + 8 = 66 + 3 =

28 + 5 = 17 + 3 = 45 + 7 = 13 + 8 = 49 + 4 =
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Mrs. Brown made 1
2

 of a gallon of mudbug 

stew for her dinner guests. Each serving of 

the stew is 3
5

 cup. How many guests can 

she serve with that amount of stew?

Vera Sergeevna was 23 years old on the 
Day of Consent and Reconciliation in 1971. 
Her brother, Alexander, was 5 years less than 
twice her age. How old will Alexander be on 
the Day of Consent and Reconciliation in 
2024?

Jason took a big bowl from the kitchen to see what kind of fun party mix he could create.  

He added 1
8

 cup of raisins, 2 1
2

 cups of Cheerios, and 6
7

 cup of Goldfish crackers.  

How many cups of food are now in the bowl?

Give two answers for x in each equation.

| -12 + x | = 5

| 12 - x | = 8
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END (9 x 1) + 5 - 6

5 + (5 + 11)

12 x 5 + 5

5 - 1 - 2

END

2 + 9 x 12 x 8

(11 + 5) - 4 - 3

60 ÷ 6 x 2

36 ÷ 3 x 3

9 + 6 - 1

END 265 - 39

481 - 38345 - 23

313 - 17

126 - 22 428 - 34

END

295 - 27

304 - 36

116 - 49

156 - 42

334 - 11

429 - 49

440 - 29

START

323

Draw a line from START to END.
36 226 21
323

Cross out the number you use above and then write it below.
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8 kg = g
For 6,749,957,453,311,861, write 
the digit that is in the hundred 
thousands place.

Rose rolls a die.  What is the 
chance of her rolling a 3?

Write this as a number in standard form.  
Use a comma in your number.

one hundred fifty-four thousand,  one 
hundred ninety

2 9 9
- 1 8 6

Can 357 be evenly divided by 4? Circle:
357 is evenly divisible by 4
357 is NOT evenly divisible by 4

8 3
- 3 7

3,915 - 3,743 =  60 ÷ 6 =  4 8
+ 4 4

What time is 15 hours after 
2:00 a.m.?

Anna rolls two dice.  She adds the 
numbers on the two dice.  What is 
the chance of this sum being ten?

3 6 9
+ 4 0 9

1 lb = 16 oz

24 lb = oz

50 ÷ 10 = 10 x 12 =  

How many grams are in 2 kilograms?

 grams
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9,535 - 3,654 =  

You have four digits to use in 
an addition problem: 9, 6, 1,  
and 7.  Make up a problem 
where you have two 2-digit 
numbers. What is the largest 
sum you can make?

Write an equation to represent this:

The product of eight and five is forty.

Rewrite these in increasing order of length:

215 km,  255 mm,  42 dm,  572 cm

9 x 10 =  

Can 427 be evenly divided by 7? Circle:
427 is NOT evenly divisible by 7
427 is evenly divisible by 7

3,173 - 1,867 =  

Circle the digit in the hundredths place.

917.1475

919 + 196 =  

11 x 10 = 

20 ÷ 10 =  

Amanda rolls two dice.  What 
is the chance of her rolling a 
4 on one die and a 1 on the 
other die?

18 ÷ 3 =  

35 ÷ 7 = 

65,876 - 17,655 =  
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Can you draw ONE line going through ALL the circles?  Your line can go left, right,
up, or down.  It cannot go diagonally.  Your line cannot cross over any part of 
the line you have already drawn.
You MUST TURN in a BLACK circle.  Do NOT TURN in a WHITE circle.

The puzzle on the left shows a correct line going through all the circles.

Finish the line: Finish the line:

Sarah took three numbers greater than 1 
and multiplied them.  One number was 
four and the other number was fifteen.  Of 
course, she forgot the last number, but she 
remembered the product was 720.  Is this 
possible?

12 x 5 =  42 ÷ 7 =  

7 x 5 = 4 x 8 =  

Write the missing family fact.

88 + 48 = 136
136 - 48 = 88
48 + 88 = 136

word root intro can mean within introversion, introvert

9 ÷ 3 =  
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5 1 8 = x = 5 x 1 5 2 = 7 1 0 0
0 2 3 3

Use the pieces above to help you fill in the runaway math puzzle.

Emma went to a restaurant.  Her bill was $12.  She 
wanted to give the food server a 15% tip.  The tip 
came to $1.80.
Today her family went out.  The bill was $68.  If her 
family wants to give the same 15% tip, how much will 
the tip be?

38% of 100 is 38.
38% of 200 is 76.
38% of 500 is 190.

What is 38% of 600?

Write 10,604 in words.

12 x 11 =  

x 6 = 3 0

2 8

7 ÷ 2 ÷

x 1 ÷ 9 = 9

5 4 = 2 =

6 9 4 = 2

3 7 0

4 ÷ 5 = 9 x

x 2 7

8 1 8 2 x = 0

= x 7

3 x 3 = 9 =

= 4

6 ÷ 7 = 9
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x

9

3 3

x

45

5

x

4

2

x

49

7

x

36

9

x

16

4

x

64

8

x

72

9

8 5 6 6 3 0 5 1 5 4 3 6

3 9 6 4 8 5 4 5 8 7 2

45 ÷ 3 = 243 ÷ 9 =

203 ÷ 7 = 470 ÷ 94 =

280 ÷ 40 = 176 ÷ 44 =

205 ÷ 5 = 350 ÷ 5 =
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71
+

35

+

27 38

72
+

48

99
+

44

+

29 48

85
+

+

59
+

17 46

+

26
+

61
+

15 12 49

+

+

15
+

37 11 4

+

15
+

61
+

10
+

5
+

18
+ +

2 8 3 9 16

53
+

+ +

20
+

14
+

6
+

13
+

13 8 3 9 4

Sketch a right angle named BCD. Sketch an obtuse angle 
named FGH.

What kind of angle has 

a measure of 180o?

word root ous can mean full of loquacious, zealous
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= 1 7 8 8 3 0 - + 2 0 6 = 7 1 7
+ 5 8 5

Use the pieces above to help you fill in the runaway math puzzle.

12 - 15 ÷ 5

4,  8,  _____,  16,  20,  24,  28

2 x 132 ÷ 11

Write as an algebraic 

expression.

26 1
8

 multiplied by the 

sum of g and s

Rewrite 63
100

 as a 

decimal.

Each side of a regular 
pentagon is 44.8 
centimeters.  What is the 
perimeter?

9 x 0 0

+

7

2 ÷ 4 = 3

+

0

÷ = 1 1 + 2 =

5 +

1 - 7 = 9 - 2

= 4 +

7 x 1 = ÷ 3

8 =

x = 4 0 7 x = 3 5

8
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20 3 2 0 10 1 4 0 8 7 0 4 45 1 3 5 0

25 1 2 5 0 27 2 7 0 36 1 5 8 4 35 7 7 0

Write as a decimal.
Thirty hundredths Write as a decimal.

 1
100

Write as a decimal.

 4 326
1000

What is the value of v?

6v + 15 - 2v = -8

|56| x [-26| = What is the greatest 
common factor of the 
numbers 39 and 104?

2
4

 + b
7

 = 9
14

b = 

The letter p is used to 
represent power points in 
a game. The points must be 
greater than 635 but less 
than 1,679.  Express this as 
an inequality.

4 x 4 x 4 x 4 x 4 = x5

What is the value of x?
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overrule barrel define either contract narratives
Each row, column, and box must have all the words from the word list.  Write in the missing 
words.

define overrule

contract barrel

define barrel contract

either

narratives

36 ÷ 12 =  110 ÷ 11 = 
Circle the smallest number:

91,423,866
609,570

438,263,178,542
90,571

5,454 + 2,665 =  

Circle the greatest number:
905,727 93,067,392,081
48,152 4,567,463,218

4 x 3 =  

Circle the addition property 
for 68 + 103 = 103 + 68.

commutative property
associative property

7 x 10 = 

6,232 - 2,192 =  7 x 11 =  
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